EARAROBREBRT —5 XN—ZXBISH—F

2025848128 (1) 1EHES1H

Elztm58 1BISR YS5R4RE (BE

8] B8

EEE=CIEE

18000 R

[AE%] 1 &:11,100,000 @ 2 #&:4,400,000  ~ 3 3#&:2,800,000 9  43#%:1,700,000 W . 5 3% :1,110,000 M
5 5B FRERS /M AF (T2 RPN BB IESRL 3F | SE & g | AYEn R / BE / =
& | % RS R 1 BF (F8) (%) B | £ 158 | AR | & BUNGIE) x / £ENS
N ~ 4 | BEHED 1:46.9 3-4-3-3 [35.0| 97.6 | 1 482 | FAKKE (FER)
11111 f\\llJ)li‘%—/ B 58.0 (=) “a | B *ZD“J"jT’:—L\\
R:UFAVF4—X B:EIU—F (\) #B81—-RU—yavBEEI7
— S st 5 | AVRALC 1:47.3 2-2-2-2 |35.6| 93.5 | 12 | 456 |EER ()
AT Sl 2172) @a) | B HBL—ZK—2
R:O—RAprO7 #S:VY3U7 HBEIT7—L4A
<~ = t 5 | SHEA 1:47.4 1-1-1-1 [35.8] 92.5 | 11 | 454 |MEHES RR)
7rrO—X g 58.0 /2 -10) (ﬁ)ﬂfryt“wu—ayd‘
RE-UR B:yvv U E=uiLe ]
) -2 Ho4 | EEUEA 1:47.4 6-6-6-4 [35.2| 92.5 | 2 | 446 |HTEI EA)
T 50 (") co | IR e
RTFRIAVL—Y BiA—YvroIA S—L— - I8 - T7—LBERE
= _ B4 | REE 1:47.4 8-8-6-10 |35.2| 92.5 | 4 | 448 | LEIER R
/7\.7{»_:-‘7_42‘. \‘IJ ~ 58.0 NF) O |FHET_
RIRwSXYF BNV T«AF—L TATAT7—L
=T YL 9— it 4 ggl!l%ﬁém (11417/45; 8-8-6-4 |35.4|90.4 | 8 | 450 Egg E(?‘ﬁﬁ)
RTUYIRPYRELIIL BHh/TaE9— G0 D505 -0
o~ t 5 | FIPER 1:48.1 13-13-13-11| 35.4 | 85.2 | 6 | 488 |iEKEEE (55H)
@:IZ’E?/\“/U‘ * 58.0 Q) o \ﬁ(ﬁ) EvILyRT7—L
R:UAVF¢—X §:3939 FPEYRUS
* s = o4 | BEEE 1:48.4 | 8-10-10-11|36.0 | 82.5 | 3 | 402 |H&OMEA (RER)
91/7_'\77‘ ) %8.0 @ 10 |, T/9I2
R:ZwF—0Orv bk B/ VIR #HEI77—LA
y=7 = o6 | BIBEA 1:48.4 14-14-14-14| 35.4 | 82.2 | 13 | 502 |89 (@)
917|12| @ EPX/—=TFLAR 58.0 0\F) Ty | BOEA
RFANIUF P BOARFUTHTF 0 ST e
=~ p s 5 | ATSK 1:49.0 6-6-6-7 |36.8| 77.3 | 14 | 462 |BENWE ()
1017113 3/23_7_?[8] e 56.0 G 1/2) 4 |SEBE -
Ri—5—YvS B:EZ+FI—I J—YYT7—L
=3 =u o6 | RGEAR 1:49.1 11-11-10-11| 36.7 | 76.2 | 9 88 | EE—E (ER)
11519 77//7171?: “(B] 58.0 a2 o) |ERERYLT
RE-UR By RIEIL /=Y IT7—L
~ \ o4 | FEH 1:49.1 11-11-10-7 | 36.7 | 76.2 | 5 166 | FEE GEH)
12j15| ATVVILYILE .0 e () | I
R:Za—AV—RAFA4 B:IaU—-FUR SRS
SISy R Y 5 | ELAKEH 1:49.3 3-4-3-6 |37.3]74.9 | 7 | 474 |EBHE EH)
13y 4| ZNVIEVE 56.0 (1 1/ (g |EEREILD
RiW—5—IvF B:T—RSNY (\) #HB81—-RL—yavEEI7
<~ o 8 4 | B 1:50.3 3-3-3-7 [38.4| 67.2 | 10 | 466 |BEFE ()
1400 6 | TA 2 VIRU D — 56.0 ®) oy | ) e
RiIAYVeAY BIAYYTz7U— (-2) %ﬁ#&%L
< <, o 4 6 | BRI - - - - - - |BMEB Eh)
«|5|8|¥avF VI 58.0 2 _y | ExES
R:RoSAVF §:FA47TFILIOR B ) BT I HhUKIES
[ BN
En'y 47.2-35.3
NOY94 L | 12.5-11.2-11.9-12.1-12.0-11.9-12.0-11.6-11.7
@ 11— —BBIEIL
10—7+— (*3,7) (1,4,6) (5,13) (2,10,14) (9,15)11,12 8
20— — (+3,7)6(1,4) (5,13) (10,14)2(9,15)11,12 8
Ja=zr= 3,7(1,4,6) (5,10,13,14) (2,9,15)11-12 8
40—F— (+3,7)-1(5,14)4(6,13,15)10(2,9,11)-12 8
0 ILRE
BB 1 270 JA R 1-7 3,920M & 1-4 3,890M 3EE 1-3-7 99,400MH4
B B 1 1604 1-3 1,580 o 18 1-7 12,930 3Es =73 277,020/
7 1,390 3-7 19,530/ oS- 1-7 16,600/
3 1,140

ABIC OV TRUTEREERRODDZE. THRIIZEL.



